CURRICULUM LEVELS EVALUATIONS

November 2023

Curriculum Levels Categories

- Above
- ◆ At
- Below
- Well Below

Reasons for undertaking this evaluation

- To determine the overall school performance in relation to the previous government's National Standards. From 2018 this will be Curriculum Levels.
- To monitor overall progress of groups (cohorts) of children (Year levels) after a baseline was established in 2010 of cohort and school performance in relation to the government's *National Standards*. From 2018 this will be *Curriculum Levels*.
- To assist with determining and tracking some of our school's annual Achievement Targets.
- > To provide another indicator of school-wide Literacy and Mathematics performance.

This may include:

- Analysis of school-level, year level data, broken down by Māori students, Pasifika students, and by gender on Curriculum Levels progress and achievement in reading, writing and mathematics.
- Analysis of the difference between the targets that were set in your annual plan and what
 was actually achieved. This provides an opportunity for the board and management to
 review the actions of the past school year and identify what has, and hasn't, been
 effective to support student learning.

National Standards summary 2011 - 2023

% of Richmond School children 'At' or 'Above' the National Standard.

	Reading	Writing	Mathematics
Nationwide 2011	76%	69%	74%
Richmond School 2011	82%	75%	73%
Nationwide 2012	77%	70%	74%
Richmond School 2012	85%	79%	70%
Nationwide 2013	78%	71%	75%
Richmond School 2013	79%	71%	74%
Nationwide 2014	78%	71%	74%
Richmond School 2014	80%	76%	81%
Nationwide 2015	78%	72%	76%
Richmond School 2015	80%	76%	82%
Nationwide 2016	78%	71%	75%
Richmond School 2016	80%	80%	84%
Richmond School 2017	81%	76%	84%
From 2018 the since <i>National Sta</i>	figures are <i>curri</i> ndards re no lon		
Richmond School 2018	77.5%	72.2%	84.1%
Richmond School 2019	80.2%	78.0%	82.3%
Richmond School 2020	69.3%	73.7%	79.0%
Richmond School 2021	73.4%	69.1%	77.3%
Richmond School 2022	75.2 %	77.4%	79.3%
Richmond School 2023	73.8%	73.3%	79.6%

Reading 2023

All C+	donts	We	ll Below		Below		At		Above	Total
All Stud	ients	No	%	No	%	No	%	No	%	No
	Male	28	11%	41	16.6%	63	25.5%	115	46.6%	247
All	Female	15	7%	41	17.8%	49	21.3%	125	54.3%	230
	Total	43	9%	82	17.2%	112	23.5%	240	50.3%	477
	Male	4	10%	9	22.0%	11	26.8%	17	41.5%	41
Māori	Female	4	12%	6	17.6%	9	26.5%	15	44.1%	34
	Total	8	11%	15	20.0%	20	26.7%	32	42.7%	75
	Male	2	40%	1	20.0%	1	20.0%	1	20.0%	5
Pasifika	Female	2	18%	3	27.3%	3	27.3%	3	27.3%	11
	Total	4	25%	4	25.0%	4	25.0%	4	25.0%	16
	Male	2	11%	5	27.8%	5	27.8%	6	33.3%	18
Asian	Female	1	5%	6	28.6%	6	28.6%	8	38.1%	21
	Total	3	8%	11	28.2%	11	28.2%	14	35.9%	39
	Male	1	13%	2	25.0%	4	50.0%	1	12.5%	8
MELAA	Female	1	13%	2	25.0%	2	25.0%	3	37.5%	8
	Total	2	13%	4	25.0%	6	37.5%	4	25.0%	16
	Male	0	0%	0	0.0%	0	0.0%	1	100.0%	1
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	1	100.0%	1
NZ/	Male	19	11%	24	13.8%	42	24.1%	89	51.1%	174
European	Female	7	4%	24	15.4%	29	18.6%	96	61.5%	156
Luiopean	Total	26	8%	48	14.5%	71	21.5%	185	56.1%	330

Voa	r 1	Well	Below		Below		At		Above	Total
Yea	I I	No	%	No	%	No	%	No	%	No
	Male	0	0%	18	36.7%	12	24.5%	19	38.8%	49
All	Female	0	0%	8	27.6%	8	27.6%	13	44.8%	29
	Total	0	0%	26	33.3%	20	25.6%	32	41.0%	78
	Male	0	0%	6	46.2%	2	15.4%	5	38.5%	13
Māori	Female	0	0%	1	33.3%	1	33.3%	1	33.3%	3
	Total	0	0%	7	43.8%	3	18.8%	6	37.5%	16
	Male	0	0%	0	0.0%	0	0.0%	1	100.0%	1
Pasifika	Female	0	0%	1	100.0%	0	0.0%	0	0.0%	1
	Total	0	0%	1	50.0%	0	0.0%	1	50.0%	2
	Male	0	0%	2	50.0%	2	50.0%	0	0.0%	4
Asian	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	2	40.0%	3	60.0%	0	0.0%	5
	Male	0	0%	0	0.0%	0	0.0%	1	100.0%	1
MELAA	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	1	100.0%	1
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
N7/	Male	0	0%	10	33.3%	8	26.7%	12	40.0%	30
NZ/ European	Female	0	0%	6	25.0%	6	25.0%	12	50.0%	24
Luiopeali	Total	0	0%	16	29.6%	14	25.9%	24	44.4%	54

V	. 2	We	ell Below		Below		At		Above	Total
Yea	r 2	No	%	No	%	No	%	No	%	No
	Male	4	10%	8	20.5%	13	33.3%	14	35.9%	39
All	Female	2	7%	9	32.1%	6	21.4%	11	39.3%	28
	Total	6	9%	17	25.4%	19	28.4%	25	37.3%	67
	Male	0	0%	1	10.0%	6	60.0%	3	30.0%	10
Māori	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	1	9.1%	7	63.6%	3	27.3%	11
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	1	25%	0	0.0%	1	25.0%	2	50.0%	4
	Total	1	25%	0	0.0%	1	25.0%	2	50.0%	4
	Male	1	50%	0	0.0%	1	50.0%	0	0.0%	2
Asian	Female	0	0%	3	75.0%	1	25.0%	0	0.0%	4
	Total	1	17%	3	50.0%	2	33.3%	0	0.0%	6
	Male	0	0%	2	50.0%	2	50.0%	0	0.0%	4
MELAA	Female	0	0%	1	100.0%	0	0.0%	0	0.0%	1
	Total	0	0%	3	60.0%	2	40.0%	0	0.0%	5
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	3	13%	5	21.7%	4	17.4%	11	47.8%	23
European	Female	1	6%	5	27.8%	3	16.7%	9	50.0%	18
Luiopeaii	Total	4	10%	10	24.4%	7	17.1%	20	48.8%	41

Voo	~ ?	We	II Below		Below		At		Above	Total
Yea	1 3	No	%	No	%	No	%	No	%	No
	Male	9	27%	4	12.1%	3	9.1%	17	51.5%	33
All	Female	2	5%	10	23.3%	5	11.6%	26	60.5%	43
	Total	11	14%	14	18.4%	8	10.5%	43	56.6%	76
	Male	2	33%	0	0.0%	0	0.0%	4	66.7%	6
Māori	Female	0	0%	2	28.6%	1	14.3%	4	57.1%	7
	Total	2	15%	2	15.4%	1	7.7%	8	61.5%	13
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Male	0	0%	0	0.0%	0	0.0%	2	100.0%	2
Asian	Female	1	14%	2	28.6%	1	14.3%	3	42.9%	7
	Total	1	11%	2	22.2%	1	11.1%	5	55.6%	9
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
MELAA	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	7	28%	4	16.0%	3	12.0%	11	44.0%	25
European	Female	1	4%	6	21.4%	2	7.1%	19	67.9%	28
Laropean	Total	8	15%	10	18.9%	5	9.4%	30	56.6%	53

Vaa	1	W	ell Below		Below		At		Above	Total
Yea	f 4	No	%	No	%	No	%	No	%	No
	Male	9	24%	5	13.2%	9	23.7%	15	39.5%	38
All	Female	6	19%	4	12.9%	7	22.6%	14	45.2%	31
	Total	15	22%	9	13.0%	16	23.2%	29	42.0%	69
	Male	0	0%	0	0.0%	2	66.7%	1	33.3%	3
Māori	Female	3	50%	0	0.0%	1	16.7%	2	33.3%	6
	Total	3	33%	0	0.0%	3	33.3%	3	33.3%	9
	Male	2	100%	0	0.0%	0	0.0%	0	0.0%	2
Pasifika	Female	0	0%	2	66.7%	1	33.3%	0	0.0%	3
	Total	2	40%	2	40.0%	1	20.0%	0	0.0%	5
	Male	1	33%	1	33.3%	0	0.0%	1	33.3%	3
Asian	Female	0	0%	0	0.0%	1	50.0%	1	50.0%	2
	Total	1	20%	1	20.0%	1	20.0%	2	40.0%	5
	Male	1	100%	0	0.0%	0	0.0%	0	0.0%	1
MELAA	Female	1	50%	0	0.0%	0	0.0%	1	50.0%	2
	Total	2	67%	0	0.0%	0	0.0%	1	33.3%	3
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	5	17%	4	13.8%	7	24.1%	13	44.8%	29
European	Female	2	11%	2	11.1%	4	22.2%	10	55.6%	18
Laropean	Total	7	15%	6	12.8%	11	23.4%	23	48.9%	47

Voc	~ F	We	II Below		Below		At		Above	Total
Yea	1 5	No	%	No	%	No	%	No	%	No
	Male	1	2%	2	4.3%	11	23.9%	32	69.6%	46
All	Female	2	4%	4	8.5%	11	23.4%	30	63.8%	47
	Total	3	3%	6	6.5%	22	23.7%	62	66.7%	93
	Male	1	25%	0	0.0%	0	0.0%	3	75.0%	4
Māori	Female	0	0%	1	11.1%	4	44.4%	4	44.4%	9
	Total	1	8%	1	7.7%	4	30.8%	7	53.8%	13
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Male	0	0%	1	16.7%	2	33.3%	3	50.0%	6
Asian	Female	0	0%	0	0.0%	1	33.3%	2	66.7%	3
	Total	0	0%	1	11.1%	3	33.3%	5	55.6%	9
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	0	0%	1	50.0%	1	50.0%	0	0.0%	2
	Total	0	0%	1	33.3%	2	66.7%	0	0.0%	3
	Male	0	0%	0	0.0%	0	0.0%	1	100.0%	1
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	1	100.0%	1
NZ/	Male	0	0%	1	2.9%	8	23.5%	25	73.5%	34
European	Female	2	6%	2	6.1%	5	15.2%	24	72.7%	33
Luiopeaii	Total	2	3%	3	4.5%	13	19.4%	49	73.1%	67

	. 6	We	ll Below		Below		At		Above	Total
Year	6	No	%	No	%	No	%	No	%	No
	Male	5	12%	4	9.5%	15	35.7%	18	42.9%	42
All	Female	3	6%	6	11.5%	12	23.1%	31	59.6%	52
	Total	8	9%	10	10.6%	27	28.7%	49	52.1%	94
	Male	1	20%	2	40.0%	1	20.0%	1	20.0%	5
Māori	Female	1	13%	2	25.0%	1	12.5%	4	50.0%	8
	Total	2	15%	4	30.8%	2	15.4%	5	38.5%	13
	Male	0	0%	1	50.0%	1	50.0%	0	0.0%	2
Pasifika	Female	1	33%	0	0.0%	1	33.3%	1	33.3%	3
	Total	1	20%	1	20.0%	2	40.0%	1	20.0%	5
	Male	0	0%	1	100.0%	0	0.0%	0	0.0%	1
Asian	Female	0	0%	1	25.0%	1	25.0%	2	50.0%	4
	Total	0	0%	2	40.0%	1	20.0%	2	40.0%	5
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	0	0%	0	0.0%	0	0.0%	2	100.0%	2
	Total	0	0%	0	0.0%	1	33.3%	2	66.7%	3
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Male	4	12%	0	0.0%	12	36.4%	17	51.5%	33
NZ/	Female	1	3%	3	8.6%	9	25.7%	22	62.9%	35
European										
	Total	5	7%	3	4.4%	21	30.9%	39	57.4%	68

<u>Richmond School Curriculum Levels - November 2023</u>

- Reading summary

- Overall, 73.8% are 'At' or 'Above'. 17.2% of students school-wide are 'Below' and 9.0% are 'Well Below'.
 Over half of the children 'Above' 50.3% which is very pleasing.
- This percentage is our *Curriculum Levels* result. These OTJs are not the same as the previous annual *National Standards* (2011 2018). The *Curriculum Levels* OTJs are similar to *National Standards*. So, we need to be careful about making sweeping generalisations and comparisons. The outcome percentages are only to be used as a guide of performance only. Having said that we now have comparative Curriculum Levels information during the past six years (2018 2023).
- Our 73.8% is slightly lower than last year's 75.2%, similar to 2021 73.4% and higher than 2020's 69.3% but it remains down on the Curriculum Levels percentages prior to the COVID pandemic (80.2% 2019, 77.5% 2018) and the previous National Standards percentages 82.0% (2017), 80.4% (2016), 80.2% (2015), 80.0% (2014) and 78.6% (2013) 85.1% (2012) and 82% (2011). Although, it is disappointing to report this again this year and we wish this hadn't occurred, it highlights the impact of COVID-19 and lower attendance rates during the past four years and it certainly highlights the importance of children being at school, learning in quality instructional learning environments.
- Year 1s 66.7% (73.7% last year), Year 2s 65.7% (63.7% 2022), Year 3s 67.1% (63.3% 2022), Year 4s 65.2% (87.1% 2022), Year 5s 90.4% (87.7% 2022) and Year 6s 80.8% (79.8% 2022).

 The Years 1, 2, 3 and 4 groups are much lower than the other year levels. The Years 1s, 2s and 3s are historically lower at Richmond School. Historically too, is the fact that over the duration of their time at Richmond School, children progress well in reading and 80% of children on average are 'At' or 'Above' by the time they are in Years 4, 5 to 6. For this reason the Year 4s percentage 2023 is disappointing. The Years 5 and 6 percentages are very pleasing. We believe our high quality reading programmes (classroom and targeted programmes such as Reading Recovery, Early Words, Phonics, Lexia and Reading Plus) and teacher-aide support are having a significant impact over the time children are at Richmond School.

Delving deeper is where there are some year level, gender and ethnic differences. 'At' and 'Above' being:

- Two of the target groups for 2023 were the 2022 Year 2 cohort 63.7% and especially the boys (Year 2 2022 boys 48.6%) and the 2022 Year 3 cohort 63.3%. There has been an improvement with these cohorts but their progress still needs to be accelerated. Now, overall percentage 'At' and Above' for Year 3s is 67.1% (boys 60.6% and girls 72.1%). Overall percentage 'At' and Above' for Year 4s is 65.2% (boys 63.2% and girls 67.8%). The Year 3 boys percentage has improved significantly from 48.2% (2021) to 60.6%.
 - We recognise the pleasing improvements but there is definitely a need to continue this in future years. Still need to target these children in the future.
 - For 2024 there needs to be a Reading Target for Years 2, 3, 4 and 5s overall and especially the Year 2, 4 and 5 boys (as Year 1s 63.3%, Year 3s 60.6% and Year 4s 63.2%).
- Another target cohort for 2023 was the 2022 Pasifika cohort:
 - "To boost the number of Pasifika pupils 'At' or 'Above' the applicable Curriculum Levels of performance for their year groups (by 1st November 2023), from 52.9% to 70% (17 Pasifika students 2022)."
 - This year we have 16 Pasifika students. For 2023 the outcome was only 50% overall (boys 40% and girls 54.6%). 8 of the 16 Pasifika students were 'Below' or 'Well Below'. This remains a concern and especially the boys (3 of the 5 boys were 'Below' or 'Well Below').
 - This is still of major concern and will continue to be a focus (targeted group) for 2024.
 - Our Māori students 'At' and 'Above' percentage (69.4%) is slightly lower than the overall percentage (73.8%). Both genders (Māori students) are similar (boys 68.3% and girls 70.6%).
- There is a gender difference overall again this year but not so significant as in past years 72.1% boys and 75.6% girls 'At' or 'Above'. The trend over the past few years has been girls out-performing the boys 70.9% boys and 79.7% girls 2022, 68.8% boys and 78.3% girls 2021, 67.4% boys and 71.3% girls 2020, 73.5% boys and 83% girls 2019, 73.5% boys and 82% girls 2018, 79% boys and 86% girls 2017, 78% boys and 84% girls 2016, 78% and 84% 2015.
- The targeted cohorts 2024 (mentioned above) in particular, will need monitoring and resourcing allocated as necessary.

Writing 2023

All Stud	donts	W	ell Below	E	Below		At		Above	Total
All Stud	ients	No	%	No	%	No	%	No	%	No
	Male	17	7%	69	27.7%	126	50.6%	37	14.9%	249
All	Female	4	2%	36	16.1%	125	56.1%	58	26.0%	223
	Total	21	4.4%	105	22.2%	251	53.2%	95	20.1%	472
	Male	4	9%	9	20.5%	28	63.6%	3	6.8%	44
Māori	Female	1	3%	4	13.3%	17	56.7%	8	26.7%	30
	Total	5	7%	13	17.6%	45	60.8%	11	14.9%	74
	Male	0	0%	4	80.0%	1	20.0%	0	0.0%	5
Pasifika	Female	0	0%	5	45.5%	5	45.5%	1	9.1%	11
	Total	0	0%	9	56.3%	6	37.5%	1	6.3%	16
	Male	2	11%	5	26.3%	9	47.4%	3	15.8%	19
Asian	Female	1	5%	3	15.0%	11	55.0%	5	25.0%	20
	Total	3	8%	8	20.5%	20	51.3%	8	20.5%	39
	Male	0	0%	3	37.5%	5	62.5%	0	0.0%	8
MELAA	Female	0	0%	2	25.0%	4	50.0%	2	25.0%	8
	Total	0	0%	5	31.3%	9	56.3%	2	12.5%	16
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	1	100.0%	0	0.0%	1
NZ/	Male	11	6%	48	27.9%	82	47.7%	31	18.0%	172
European	Female	2	1%	22	14.3%	88	57.1%	42	27.3%	154
Luiopean	Total	13	4%	70	21.5%	170	52.1%	73	22.4%	326

Voa	r 1	Well	Below		Below		At		Above	Total
Yea	1 1	No	%	No	%	No	%	No	%	No
	Male	0	0%	8	17.0%	39	83.0%	0	0.0%	47
All	Female	0	0%	1	3.7%	26	96.3%	0	0.0%	27
	Total	0	0%	9	12.2%	65	87.8%	0	0.0%	74
	Male	0	0%	2	15.4%	11	84.6%	0	0.0%	13
Māori	Female	0	0%	0	0.0%	3	100.0%	0	0.0%	3
	Total	0	0%	2	12.5%	14	87.5%	0	0.0%	16
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
Pasifika	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	0	0.0%	2	100.0%	0	0.0%	2
	Male	0	0%	1	25.0%	3	75.0%	0	0.0%	4
Asian	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	1	20.0%	4	80.0%	0	0.0%	5
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
N7 /	Male	0	0%	5	17.9%	23	82.1%	0	0.0%	28
NZ/	Female	0	0%	1	4.5%	21	95.5%	0	0.0%	22
European	Total	0	0%	6	12.0%	44	88.0%	0	0.0%	50

Vas	. 2	W	ell Below		Below		At		Above	Total
Year	2	No	%	No	%	No	%	No	%	No
	Male	4	10%	7	17.9%	20	51.3%	8	20.5%	39
All	Female	1	4%	5	17.9%	18	64.3%	4	14.3%	28
	Total	5	7%	12	17.9%	38	56.7%	12	17.9%	67
	Male	0	0%	2	20.0%	8	80.0%	0	0.0%	10
Māori	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	2	18.2%	9	81.8%	0	0.0%	11
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	1	25.0%	2	50.0%	1	25.0%	4
	Total	0	0%	1	25.0%	2	50.0%	1	25.0%	4
	Male	1	50%	0	0.0%	1	50.0%	0	0.0%	2
Asian	Female	1	25%	1	25.0%	2	50.0%	0	0.0%	4
	Total	2	33%	1	16.7%	3	50.0%	0	0.0%	6
	Male	0	0%	1	25.0%	3	75.0%	0	0.0%	4
MELAA	Female	0	0%	1	100.0%	0	0.0%	0	0.0%	1
	Total	0	0%	2	40.0%	3	60.0%	0	0.0%	5
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	3	13%	4	17.4%	8	34.8%	8	34.8%	23
European	Female	0	0%	2	11.1%	13	72.2%	3	16.7%	18
Luiopean	Total	3	7%	6	14.6%	21	51.2%	11	26.8%	41

Year	2	We	ell Below		Below		At		Above	Total
Year	3	No	%	No	%	No	%	No	%	No
	Male	3	9%	7	21.2%	11	33.3%	12	36.4%	33
All	Female	0	0%	2	4.7%	19	44.2%	22	51.2%	43
	Total	3	4%	9	11.8%	30	39.5%	34	44.7%	76
	Male	1	17%	0	0.0%	2	33.3%	3	50.0%	6
Māori	Female	0	0%	0	0.0%	4	57.1%	3	42.9%	7
	Total	1	8%	0	0.0%	6	46.2%	6	46.2%	13
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Male	0	0%	0	0.0%	0	0.0%	2	100.0%	2
Asian	Female	0	0%	1	14.3%	5	71.4%	1	14.3%	7
	Total	0	0%	1	11.1%	5	55.6%	3	33.3%	9
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
MELAA	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	2	8%	7	28.0%	9	36.0%	7	28.0%	25
European	Female	0	0%	1	3.6%	9	32.1%	18	64.3%	28
Luiopean	Total	2	4%	8	15.1%	18	34.0%	25	47.2%	53

Vasa	. 4	We	ell Below		Below		At		Above	Total
Yea	r 4	No	%	No	%	No	%	No	%	No
	Male	7	17%	16	38.1%	12	28.6%	7	16.7%	42
All	Female	1	4%	6	22.2%	11	40.7%	9	33.3%	27
	Total	8	12%	22	31.9%	23	33.3%	16	23.2%	69
	Male	2	33%	3	50.0%	1	16.7%	0	0.0%	6
Māori	Female	0	0%	0	0.0%	1	33.3%	2	66.7%	3
	Total	2	22%	3	33.3%	2	22.2%	2	22.2%	9
	Male	0	0%	2	100.0%	0	0.0%	0	0.0%	2
Pasifika	Female	0	0%	1	33.3%	2	66.7%	0	0.0%	3
	Total	0	0%	3	60.0%	2	40.0%	0	0.0%	5
	Male	1	25%	2	50.0%	1	25.0%	0	0.0%	4
Asian	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	1	20%	2	40.0%	2	40.0%	0	0.0%	5
	Male	0	0%	1	100.0%	0	0.0%	0	0.0%	1
MELAA	Female	0	0%	1	50.0%	0	0.0%	1	50.0%	2
	Total	0	0%	2	66.7%	0	0.0%	1	33.3%	3
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	4	14%	8	27.6%	10	34.5%	7	24.1%	29
European	Female	1	6%	4	22.2%	7	38.9%	6	33.3%	18
Luiopean	Total	5	11%	12	25.5%	17	36.2%	13	27.7%	47

Year	Г	W	ell Below		Below		At		Above	Total
rear	5	No	%	No	%	No	%	No	%	No
	Male	2	4%	6	13.0%	31	67.4%	7	15.2%	46
All	Female	1	2%	3	6.5%	30	65.2%	12	26.1%	46
	Total	3	3%	9	9.8%	61	66.3%	19	20.7%	92
	Male	1	25%	0	0.0%	3	75.0%	0	0.0%	4
Māori	Female	0	0%	1	12.5%	5	62.5%	2	25.0%	8
	Total	1	8%	1	8.3%	8	66.7%	2	16.7%	12
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Male	0	0%	1	16.7%	4	66.7%	1	16.7%	6
Asian	Female	0	0%	0	0.0%	1	33.3%	2	66.7%	3
	Total	0	0%	1	11.1%	5	55.6%	3	33.3%	9
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	0	0%	0	0.0%	2	100.0%	0	0.0%	2
	Total	0	0%	0	0.0%	3	100.0%	0	0.0%	3
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	1	100.0%	0	0.0%	1
NZ/	Male	1	3%	5	14.7%	22	64.7%	6	17.6%	34
-	Female	1	3%	2	6.1%	22	66.7%	8	24.2%	33
European	Total	2	3%	7	10.4%	44	65.7%	14	20.9%	67

		We	ll Below		Below		At		Above	Total
Year	r 6			N						
		No	%	0	%	No	%	No	%	No
	Male	1	2%	25	59.5%	13	31.0%	3	7.1%	42
All	Female	1	2%	19	36.5%	21	40.4%	11	21.2%	52
	Total	2	2%	44	46.8%	34	36.2%	14	14.9%	94
	Male	0	0%	2	40.0%	3	60.0%	0	0.0%	5
Māori	Female	1	13%	3	37.5%	3	37.5%	1	12.5%	8
	Total	1	8%	5	38.5%	6	46.2%	1	7.7%	13
	Male	0	0%	2	100.0%	0	0.0%	0	0.0%	2
Pasifika	Female	0	0%	3	100.0%	0	0.0%	0	0.0%	3
	Total	0	0%	5	100.0%	0	0.0%	0	0.0%	5
	Male	0	0%	1	100.0%	0	0.0%	0	0.0%	1
Asian	Female	0	0%	1	25.0%	1	25.0%	2	50.0%	4
	Total	0	0%	2	40.0%	1	20.0%	2	40.0%	5
	Male	0	0%	1	100.0%	0	0.0%	0	0.0%	1
MELAA	Female	0	0%	0	0.0%	1	50.0%	1	50.0%	2
	Total	0	0%	1	33.3%	1	33.3%	1	33.3%	3
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
N7/	Male	1	3%	19	57.6%	10	30.3%	3	9.1%	33
NZ/	Female	0	0%	12	34.3%	16	45.7%	7	20.0%	35
European	Total	1	1%	31	45.6%	26	38.2%	10	14.7%	68

Richmond School Curriculum Levels - November 2023

- Writing summary

- Overall, 73.3% are 'At' or 'Above'. 26.6% are 'Well Below' or 'Below' (22.6% 2022, 31.9% 2021, 26.3% 2020, 22% 2019, 27.8% 2018).
- This percentage is our *Curriculum Levels* result. These OTJs are not the same as the previous annual *National Standards* (2011 2018). The *Curriculum Levels* OTJs are similar to *National Standards*. So, we need to be careful about making sweeping generalisations and comparisons. The outcome percentages are only to be used as a guide of performance only. Having said that we now have comparative Curriculum Levels information during the past six years (2018 2023).
- Our 73.3% is below the 2022 percentage of 77.4%. Other recent *Curriculum Levels* percentages being 69.1% 2021, 73.7% 2020, 78% 2019 and 72.2% 2018. This year's percentage is mid-range for the past six years.

The previous *National Standards* percentages being – 2017 (76.2%), 2016 (79.5%), 2015 (76.3%), 2014 (75.7%) and 2013 (78.6%). Nationally (supplied by the Ministry of Education) the overall percentage for 2015 was 71.1% (so this year's percentage is above that).

- When one drills down into the differences within year levels, there is a huge variety in the percentages at each level. The well performed year levels being Year 1s 87.8%, Year 3s 84.2% and Year 5s 87.0%. The Year 2s (74.6%) percentage was close to the average across the school.

 The two year levels of concern being the Year 4s 56.5% and the Year 6s 51.1%. Both percentages are significantly lower than the average (73.3%).
- On drilling down further what is apparent is the boys' results at Years 2, 3, 4, and 6 are significantly impacting on the overall year results. Tracking these cohorts over a number of years, their percentages have been low since starting at the school.

Year 2 boys -71.8%, Year 3 boys -69.7%, Year 4-45.3% and Year 6-38.1%.

Year 1 boys 83.0% and Year 5 boys 82.6% both over 80%.

The only girls' percentages below 80% were Year 2s – 78.6%, Year 4s – 74.0% and Year 6s – 61.6%. The Year 3 boys (2024), Year 4 boys (2024) and Year 5 boys (2024) must be targeted cohorts for 2024. We need to significantly boost their overall performances and this will boost the overall percentages school-wide.

When one looks closely at the <u>gender differences</u> there remains a huge concern with the performance of boys' writing. We need to brainstorm this again and develop suitable action plans moving forward.

Overall, 34.7% (29.9% 2022, 50.7% 2021, 36.9% 2020, 29.6% 2019, 27% 2018, 31.2% 2017, 28% - 2016) of the males are 'Below' or 'Well Below', whereas, only 18.1% (14.9%, 20.4%, 15.8% 2020, 13.2% 2019, 18.1% 2018, 16.3% 2017, 12% - 2016) of the females are 'Well Below' or 'Below'.

It means one in three boys are 'Below' or 'Well Below'. This remains an area to continue to focus on.

Overall, the boys 'At' or 'Above' percentage is 65.5% whereas the girls are 82.1%.

- The really pleasing results were the Year 1s overall 87.8%, Year 3s 84.2% and the Year 5s 87.0% who were 'At' or 'Above'.
- In terms of <u>ethnic differences</u> there are 16 <u>Pasifika students</u> in the school 9 are 'Below', 6 'At' and 1 "Above'. Only 43.8% 'At' or 'Above'. This remains a concern.
 - Last year we had 33 <u>Asian students</u> overall percentage being 81.8% 'At' or 'Above'. This year we have 39 Asian students 71.8% 'At' or 'Above'.
 - In terms of the 74 <u>Māori students</u>, the percentage of males (70.4%), females (83.4%) and overall (75.7%) are all slightly above the overall Richmond School percentages. Similar percentages to 2022.

Maths 2023

All China	امسده	We	ll Below		Below		At	Д	bove	Total
All Stud	ients	No	%	No	%	No	%	No	%	No
	Male	20	8%	22	8.7%	103	40.9%	107	42.5%	252
All	Female	16	7%	39	17.3%	98	43.6%	72	32.0%	225
	Total	36	8%	61	12.8%	201	42.1%	179	37.5%	477
	Male	7	16%	2	4.5%	21	47.7%	14	31.8%	44
Māori	Female	2	7%	9	30.0%	11	36.7%	8	26.7%	30
	Total	9	12%	11	14.9%	32	43.2%	22	29.7%	74
	Male	2	40%	0	0.0%	3	60.0%	0	0.0%	5
Pasifika	Female	2	18%	4	36.4%	4	36.4%	1	9.1%	11
	Total	4	25%	4	25.0%	7	43.8%	1	6.3%	16
	Male	1	5%	2	10.5%	10	52.6%	6	31.6%	19
Asian	Female	1	5%	6	30.0%	6	30.0%	7	35.0%	20
	Total	2	5%	8	20.5%	16	41.0%	13	33.3%	39
	Male	0	0%	0	0.0%	6	75.0%	2	25.0%	8
MELAA	Female	1	13%	3	37.5%	2	25.0%	2	25.0%	8
	Total	1	6%	3	18.8%	8	50.0%	4	25.0%	16
	Male	2	67%	0	0.0%	0	0.0%	1	33.3%	3
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	2	67%	0	0.0%	0	0.0%	1	33.3%	3
NZ/	Male	8	5%	18	10.4%	63	36.4%	84	48.6%	173
European	Female	10	6%	17	10.9%	75	48.1%	54	34.6%	156
Luiopean	Total	18	5%	35	10.6%	138	41.9%	138	41.9%	329

Year 1		Well	Below		Below		At		Above	Total
Year	1 1	No	%	No	%	No	%	No	%	No
	Male	0	0%	1	2.0%	36	72.0%	13	26.0%	50
All	Female	0	0%	1	3.4%	25	86.2%	3	10.3%	29
	Total	0	0%	2	2.5%	61	77.2%	16	20.3%	79
	Male	0	0%	0	0.0%	11	84.6%	2	15.4%	13
Māori	Female	0	0%	1	33.3%	2	66.7%	0	0.0%	3
	Total	0	0%	1	6.3%	13	81.3%	2	12.5%	16
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
Pasifika	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	0	0.0%	2	100.0%	0	0.0%	2
	Male	0	0%	0	0.0%	4	100.0%	0	0.0%	4
Asian	Female	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Total	0	0%	0	0.0%	5	100.0%	0	0.0%	5
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	1	100.0%	0	0.0%	1
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	0	0%	1	3.2%	19	61.3%	11	35.5%	31
European	Female	0	0%	0	0.0%	21	87.5%	3	12.5%	24
Luiopean	Total	0	0%	1	1.8%	40	72.7%	14	25.5%	55

Vac	. 2	Well	Below		Below		At		Above	Total
Year	2	No	%	No	%	No	%	No	%	No
	Male	0	0%	5	12.8%	13	33.3%	21	53.8%	39
All	Female	0	0%	8	28.6%	15	53.6%	5	17.9%	28
	Total	0	0%	13	19.4%	28	41.8%	26	38.8%	67
	Male	0	0%	0	0.0%	4	40.0%	6	60.0%	10
Māori	Female	0	0%	1	100.0%	0	0.0%	0	0.0%	1
	Total	0	0%	1	9.1%	4	36.4%	6	54.5%	11
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	2	50.0%	2	50.0%	0	0.0%	4
	Total	0	0%	2	50.0%	2	50.0%	0	0.0%	4
	Male	0	0%	0	0.0%	1	50.0%	1	50.0%	2
Asian	Female	0	0%	2	50.0%	2	50.0%	0	0.0%	4
	Total	0	0%	2	33.3%	3	50.0%	1	16.7%	6
	Male	0	0%	0	0.0%	2	50.0%	2	50.0%	4
MELAA	Female	0	0%	1	100.0%	0	0.0%	0	0.0%	1
	Total	0	0%	1	20.0%	2	40.0%	2	40.0%	5
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	0	0%	5	21.7%	6	26.1%	12	52.2%	23
European	Female	0	0%	2	11.1%	11	61.1%	5	27.8%	18
Luiopean	Total	0	0%	7	17.1%	17	41.5%	17	41.5%	41

Year 3		W	ell Below		Below		At		Above	Total
Year	3	No	%	No	%	No	%	No	%	No
	Male	3	9%	9	27.3%	8	24.2%	13	39.4%	33
All	Female	0	0%	11	25.6%	13	30.2%	19	44.2%	43
	Total	3	4%	20	26.3%	21	27.6%	32	42.1%	76
	Male	1	17%	1	16.7%	1	16.7%	3	50.0%	6
Māori	Female	0	0%	2	28.6%	2	28.6%	3	42.9%	7
	Total	1	8%	3	23.1%	3	23.1%	6	46.2%	13
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Male	0	0%	1	50.0%	1	50.0%	0	0.0%	2
Asian	Female	0	0%	4	57.1%	1	14.3%	2	28.6%	7
	Total	0	0%	5	55.6%	2	22.2%	2	22.2%	9
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
MELAA	Female	0	0%	1	100.0%	0	0.0%	0	0.0%	1
	Total	0	0%	1	100.0%	0	0.0%	0	0.0%	1
	Male	2	100%	0	0.0%	0	0.0%	0	0.0%	2
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	2	100%	0	0.0%	0	0.0%	0	0.0%	2
NZ/	Male	0	0%	7	30.4%	6	26.1%	10	43.5%	23
European	Female	0	0%	4	14.3%	10	35.7%	14	50.0%	28
Luiopean	Total	0	0%	11	21.6%	16	31.4%	24	47.1%	51

Year 4		W	'ell Below		Below		At		Above	Total
Yea	f 4	No	%	No	%	No	%	No	%	No
	Male	12	29%	3	7.1%	10	23.8%	17	40.5%	42
All	Female	6	22%	4	14.8%	7	25.9%	10	37.0%	27
	Total	18	26%	7	10.1%	17	24.6%	27	39.1%	69
	Male	5	83%	1	16.7%	0	0.0%	0	0.0%	6
Māori	Female	0	0%	0	0.0%	1	33.3%	2	66.7%	3
	Total	5	56%	1	11.1%	1	11.1%	2	22.2%	9
	Male	2	100%	0	0.0%	0	0.0%	0	0.0%	2
Pasifika	Female	1	33%	2	66.7%	0	0.0%	0	0.0%	3
	Total	3	60%	2	40.0%	0	0.0%	0	0.0%	5
Male	Male	1	25%	1	25.0%	1	25.0%	1	25.0%	4
Asian	Female	0	0%	0	0.0%	0	0.0%	1	100.0%	1
	Total	1	20%	1	20.0%	1	20.0%	2	40.0%	5
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	1	50%	0	0.0%	0	0.0%	1	50.0%	2
	Total	1	33%	0	0.0%	1	33.3%	1	33.3%	3
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	4	14%	1	3.4%	8	27.6%	16	55.2%	29
_	Female	4	22%	2	11.1%	6	33.3%	6	33.3%	18
European	Total	8	17%	3	6.4%	14	29.8%	22	46.8%	47

Year 5		We	II Below	Below			At		Above	Total
Year	1 5	No	%	No	%	No	%	No	%	No
	Male	2	4%	2	4.3%	13	28.3%	29	63.0%	46
All	Female	3	7%	10	21.7%	15	32.6%	18	39.1%	46
	Total	5	5%	12	13.0%	28	30.4%	47	51.1%	92
	Male	1	25%	0	0.0%	1	25.0%	2	50.0%	4
Māori	Female	0	0%	3	37.5%	3	37.5%	2	25.0%	8
	Total	1	8%	3	25.0%	4	33.3%	4	33.3%	12
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Pasifika	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
N	Male	0	0%	0	0.0%	3	50.0%	3	50.0%	6
Asian	Female	0	0%	0	0.0%	1	33.3%	2	66.7%	3
	Total	0	0%	0	0.0%	4	44.4%	5	55.6%	9
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	0	0%	1	50.0%	1	50.0%	0	0.0%	2
	Total	0	0%	1	33.3%	2	66.7%	0	0.0%	3
	Male	0	0%	0	0.0%	0	0.0%	1	100.0%	1
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	1	100.0%	1
N7 /	Male	1	3%	2	5.9%	8	23.5%	23	67.6%	34
NZ/	Female	3	9%	6	18.2%	10	30.3%	14	42.4%	33
European	Total	4	6%	8	11.9%	18	26.9%	37	55.2%	67

Year 6		We	II Below		Below		At		Above	Total
Year	0	No	%	No	%	No	%	No	%	No
	Male	3	7%	2	4.8%	23	54.8%	14	33.3%	42
All	Female	7	13%	5	9.6%	23	44.2%	17	32.7%	52
	Total	10	11%	7	7.4%	46	48.9%	31	33.0%	94
	Male	0	0%	0	0.0%	4	80.0%	1	20.0%	5
Māori	Female	2	25%	2	25.0%	3	37.5%	1	12.5%	8
	Total	2	15%	2	15.4%	7	53.8%	2	15.4%	13
	Male	0	0%	0	0.0%	2	100.0%	0	0.0%	2
Pasifika	Female	1	33%	0	0.0%	1	33.3%	1	33.3%	3
	Total	1	20%	0	0.0%	3	60.0%	1	20.0%	5
	Male	0	0%	0	0.0%	0	0.0%	1	100.0%	1
Asian	Female	1	25%	0	0.0%	1	25.0%	2	50.0%	4
	Total	1	20%	0	0.0%	1	20.0%	3	60.0%	5
	Male	0	0%	0	0.0%	1	100.0%	0	0.0%	1
MELAA	Female	0	0%	0	0.0%	1	50.0%	1	50.0%	2
	Total	0	0%	0	0.0%	2	66.7%	1	33.3%	3
	Male	0	0%	0	0.0%	0	0.0%	0	0.0%	0
Other	Female	0	0%	0	0.0%	0	0.0%	0	0.0%	0
	Total	0	0%	0	0.0%	0	0.0%	0	0.0%	0
NZ/	Male	3	9%	2	6.1%	16	48.5%	12	36.4%	33
European	Female	3	9%	3	8.6%	17	48.6%	12	34.3%	35
Luiopean	Total	6	9%	5	7.4%	33	48.5%	24	35.3%	68

Richmond School Curriculum Levels - November 2023

- Mathematics summary

- Overall, 79.6% are 'At' or 'Above'.
- This percentage is our *Curriculum Levels* result. These OTJs are not the same as the previous annual *National Standards* (2011 2018). The *Curriculum Levels* OTJs are similar to *National Standards*. So, we need to be careful about making sweeping generalisations and comparisons. The outcome percentages only to be used as a guide of performance only. Having said that we now have comparative Curriculum Levels information during the past six years (2018 2023).
- Our 79.6% is <u>slightly up</u> on the last year's *Curriculum Levels* percentage of (79.3% 2022, 77.3% 2021, 79.0% 2020, 82.3% 2019 and 84.1% 2018). The previous *National Standards* percentages being 85.2% (2017), 84.2% (2016), 82.1% (2015) and 80.7% (2014).
 Although, it is disappointing to report this it is not back into the 80+ percentages of pre-Covid percentages it is very close to that now.
- Especially pleasing were the Year 1s 98.4% (96.1% 2021, 90.4% 2020, 95.1% 2019) and Year 2s 82.6% were 'At' or 'Above' the standard. With the Year 1s 100% of the boys and 96.1% of the girls were 'At' or 'Above' the standard.
 - Not so pleasing were the Year 3s only 56.6% and Year 4s 72.9%, whereas the Year 5s and 6s were similar to the overall percentage Year 5s 75.2% and Year 6s 78.4%.
- There wasn't a significant overall <u>gender</u> difference overall as they were very similar 83.4% of boys (80.1% 2022, 79.5% 2021, 79.6% 2020, 81.5% 2019, 85.7% 2018, 85.4% 2017, 86% 2016, 84% 2015) and girls 72.9% (78.6% 2022, 75.0% 2021, 78.4% 2020, 83.2% 2019, 84.1% 2018, 84.5% 2017, 82% 2016, 79% 2015) 'At' or 'Above'.

Where the discrepancies occurred were in the percentages for the year levels. Year 1 they are very similar (boys 98.0%, girls 96.5%). Year 2 boys 87.1% which is better than girls 71.5% (low). Year 3 boys very low and girls believe the school average - 63.6%, girls 74.4%. Year 4 boys 64.3% and girls 62.9%. Both Year 4 percentages are very low. Year 5 boys 91.3% which is very pleasing, girls 71.7% (low). Year 6 boys 88.1% which is very pleasing, girls 76.9%.

• In terms of ethnic differences the overall number and percentage of Māori students in the school, 72.9% (74.3% 2022) of Māori students are 'At' or 'Above' – this is lower than the overall school percentage (79.6%). Only 63.4% (65.5% 2022) of the Māori females 'At' or 'Above' but the Māori males were 71.6% (80.4% 2022) which was pleasing.

There are 16 Pasifika students. 50% are 'At' or 'Above' (60% 2022, 40% 2021, 41.7% 2020). This is still much lower than the overall school-wide percentage of 79.6%.

There are 39 Asian students. Only eight are 'Below' and two 'Well Below'. This means 74.3% are 'At' or 'Above' (81.8% 2022, 88.0% 2021, 93.8% 2020). This is very pleasing. Boys 84.2% and girls 65.0%.